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The Wall St Crash 1929 –
impact: unemployment grew, 
economic Depression in cities 
and the countryside, families 

shattered, rise in suicides

Hoover's policies of rugged 
individualism and Balancing 

the budget made him 
unpopular – Hoovervilles, 

Bonus Army

Roosevelt elected in 1932 –
1st New Deal –

Relief, Recovery & Reform –
Alphabet Agencies. His 
'fireside chats' restored 

confidence.

2nd New Deal 
targeted workers, the poor 

and unemployed BUT some 
believed it did not go far 

enough, however confidence 
in the Government was 

restored.

Critics claimed the Deal 
discriminated against black 

people, not enough was done 
to support the

Key Question 1 : How was the USA affected by the Great Depression between 1929 and 1945?



2 GCSE Knowledge Organiser – USA 1929-2000

Key Question 2 : How had the economy of the USA changed by the 1960s?

Impact of WW2 
and post- war 
developments

Industrial 
Output

Consumerism 
& 

suburbanization

'Poverty amidst 
plenty'

1. Roosevelt established the War 
Production Board and by 1944 

the US was producing almost 

50% of the weapons in the 

world.  

2. Increased job opportunities and 
conscription reduced unemploym

ent.

3. By 1945, the USA was  out of 

depression and had the most 

powerful economy in the world.

1. Post war affluence meant many 
Americans could afford 'luxury' 

goods. Purchase of War Bonds 

helped.

2. Hire purchase and consumer 

credit enabled cheap products.
3. The Cold War meant US industry 

made weapons boosting the 

economy.

4. Suburbs grew.

1. However, by 1959, 29% of 
the population lived below 

the poverty line. 'Hillbillies', 

Hispanics, many black 

people lived in ghettos. 

There was no national health 
service.
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Key Question 3: Why was it difficult for Black Americans to gain equal rights 

between 1941 - 1970?

In the outbreak of the WW2, many 
Black Americans enlisted in “Jim Crow” 

segregated regiments carrying out 
boring tasks and dangerous work 
rather than seeing active service.

As the war progressed, Black 
Americans began to see action and 
served with distinction namely the 

Tuskagee airmen.

Eisenhower showed his support for 
integrated units, by the end of the war 
many black Americans had become 

officers.

De-segregation in the navy happened 
in 1946 and other branches of the 

military by 1948.

With many black Americans on active 
service, opportunities improved for 
male and females in factories. They 
were still treated as second class 

citizens which gave rise to the “Double 
V” campaign – victory abroad and 

victory at home.  Discrimination led to 
increased membership of the NAACP.

I have decided 
to stick with 

love. Hate is too 

great a burden 

to bear. - MLK

Education

Little Rock 
High School

James 
Meredith

Brown vs 
Topeka

America's War Effort

JFK 

assassinated 
1963
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Key Question 4: What were the main political developments in the USA between 

1960 and 2000?

1960 John F 
Kennedy 

elected and 
introduces his 
New Frontier 

plan

1963 Kennedy 
assassinated in 

Dallas

1963 President 
Johnson takes 

office and 
introduces his 
Great Frontier

1968 Richard 
Nixon 

(Republican) 
elected 

president

1974 Nixon 
resigns before 

being 
impeached for 
his part in the 

Watergate 
Scandal

1980 Ronald 
Reagan 

(Republican) 
defeats Jimmy 
Carter and is 

elected 
president

1989 George 
Bush Snr. 

(Republican) 
succeeds 

Reagan and 
serves one 

term

1992 Bill 
Clinton 

(Democrat) 
defeats Bush

Presidents

JFK - New Frontier to eradicate poverty. Granted 
equal rights for black Americans.He introduced tax 

cuts. Socials reforms: 'Medicare', increase the 
minimum wage, Social Security Act, offered help for 

the elderly but he faced opposition.

Nixon elected president in 1968,1972 but was forced 
to resign as a result of the Watergate Scandal. June 
1972 – 5 members of CREEP were arrested for a 
break-in at the Watergate offices of the Democrat 

Party. Nixon ordered a cover-up and was re-
elected. Nixon refused to cooperate but tape 

recordings confirmed his involvement; he resigned. 
Watergate led to a drop in public confidence in the 

government.

Reagan elected in 1980 – faced an economic crisis. 
'Reaganomics' - his policies; cutting tax, slashed 

welfare, move back to 'rugged individualism'. He spent 
money of the Space Race which caused national debt 

to grow.

George Bush Snr. Contined Reagan's policies. He 
went back on election promises; increased taxes. 14% 

people lived in poverty in 1992. Disability Act 1990 
banned discrimination, Clean Air Act 1990. Race riots 

in 1992.

Clinton, a Democrat promised more direct action to fix 
the economy. Abandon Reagonomics, increase 
welfare, minimum wage. He faced a sex scandal 

in 1996.
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Key Question 5: How did American society change between 1950 & 2000?

Changes 

in media

What was the impact of these changes in popular culture?

MUSIC

FILM

TELEVISION

Drive in cinema

INFORMATION
TECHNOLOGY

LITERATURE
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Key Question 6: Why did American society change between 1950 & 2000?

The Marshall Plan 
1947 & The 

Domino Theory

The Berlin Crisis 
1948-9

1949 Stalin gave 
in

1949 USA joins 
NATO

1959 
Cuban  Missile 

Crisis

Brinkmanship  & 
1963 Test Ban 
Treaty signed

Vietnam War 
1954-75
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Key Question 7: What has been the USA's role in the search for peace since 

1970?

SALT agreement 1972 
limited nuclear weapons 
between USA & USSR.

Helsinki Agreements 1975 
agreed existence of West 

Germany, human 
rights, cooperation with 

space adventures.

Ping 
Pong diplomacy improved 
relations with China; China 

joined the UN in 
1971 President Nixon 
visited China in 1972.

Détente ended after the 
Soviet invasion of 

Afghanistan; US refused 
to sign SALT 2.

The US Olympic team 
boycotted the 1980 

Moscow Olympic Games.

1981 President Reagan 
increased defence 

against the Soviets; 'Star 
Wars'.

1985 Soviet President 
Gorbachev wanted 

a return to detente & met 
President Reagan & 

agreed to reduce arms.

1989 President  Bush Snr 
& Gorbachev signed the 

Treaty for the Reduction & 
Arms Limitation START.

1989 The Berlin Wall fell, 
1990, communist 

governments replaced by 
democratic governments.
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